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That an emergency developed on the way - XT7IK2 ROIN 7755 T9999R7

Overview

The X773 relates that a person sold his assets with a declared stipulation that it is
with the intent that he is going to Israel. After the sale he did not go to Israel and
wanted to void the sale. @R 21 ruled that the sale is valid, for if he wants he can
still go to Israel. Another version of his response is; ‘if he wants cannot he go up to
Israel’. The Xnx explained there is a difference between these two versions (of s 27
WX response) in a case where an emergency arose and it was difficulty to travel to
R,

mooIn responds to an anticipated question:2
= D927 )N 2532V D927 92 TINNY JPYD)

And previously (where he did not explicitly stipulate), where it was necessary to

say that the reason the sale is valid is because 29727 218 292w 29127, seemingly the

X713 should have simply said the sale is valid since ?°70 *v2 X -
- >RATIND RONN 799 PR PI9D KY 5932 INT NIWrYHT 99 P99

It will be necessary to say that according to the version of the 7"X that "wX 217
maintains the sale is valid since, ‘if he would want, cannot he go up to >'x’, that the

previous case of 292w 0°727 is in a situation where XFIN2 KON 7799 T99°NK, where

the rule is that if he stipulated the sale is void -
195 *9195 150 KD 999 315 Y 1TXORY DIN PIININT 1Y 1598 7290 ¥ INT NIWIHY

And according to the first version that *wX 17 said the sale is valid, ‘since if he
wants he can go up to >"X’, it will be necessary to say that the case of 272w 0°127
is where there occurred such an o218 that he could not go up to "X even if he

accompanied a caravan. In these two respective instances the sale is void, only because it was
292w o»117.

Summary
We need to come on to 0°127 21°R 222w 0°127, in order to validate a sale where it

' See TP n°RT 71"7 *"wA that according to the ", the sale is valid, because he could put in the effort and find a way to
go to *"& and circumvent the 01X. According to the 7" the sale is void, because the answer of *WX 17 was, ‘cannot he
go to °"X’, indicating that it is a simple matter and therefore the sale is valid; however if there are complications, the
sale is void.

% The X3 here is saying that the sale is valid since he can go to *"X. Why previously did we say that the sale is valid
since 0’7127 oK 272w 0127, we can simply say that the sale is valid since he should go now to *"X.

? See footnote # 1 that according to the "X if X01X 7°9°1X the sale is void (if he stipulated).

* In such an 01X even the p"% will agree that the sale is void (when stipulated) since even if *y2 he cannot go to *"x.
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was either difficult or virtually impossible to carry out the stipulation (depending
on the two versions).

Thinking it over
Why does mooin explain the N2 of %0 XY *¥2 X' (which is the 7"X [the second

version]), before he explains the "% of 'P°%0 *v2 °X', the first version?!’

3 See TR K"WwAAM and HO NINLY.
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